fix)y= % for -5 < x < 5 and = 0 otherwise

a. P(X<0)= ﬁﬁdx:j.

b. P(-25<X<2.5)= j_zz'il'—odx:.s.

c. P(2<X<3)= fﬁdx:.s.

k+4 k+4

d. Ph<X<k+d)=[ Fdr=Fx]" =Fl(k+4)-k]=4.
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a. 1—j_ﬂ(f(x)dx:jn/aa’x:T = =k=1
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b. PO<X<1)=[3xidr=ix'] =1=125.

1
0

¢ PU<X<18)= [ txrde=tx']" =1(3) -#(1) = £ = 296875 .

1.5
1

d. PX>15=1- Ligxldx:%x-‘]i =1(2)’ —1(1.5) = .578125.




PX<1)=F()= —=25.

12
4

P(5<X<1)=F(1)-F(.5= %—'—;1875.

PX>15)=1-PX<15)=1-F(1.5)= 1—%:.4375.

5= F(ﬁ):ﬁ—_:[f:2:>/}:\5::1.414.

fix)=F'(x) = % for 0 <x <2, and = 0 otherwise.

" : 372
EX) =[x f(x)dx =I02xA%dx=%sz2dx=%} =%=1.333.
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E(XY) = LA j(A)dx-L) de_ijo“ dx—?} =2, so V(X)= E(X") - [E(0)]" =

0

2
2~{%] :38—6z.222,and ax= ~.222 = 471.

From g, E(X*) = 2.

If X is uniformly distributed on the interval from 4 to B, then E(X)= IBX- o : 3 dx = i , the
A i
.. A'+AB+ B’
midpoint of the interval. Also, E(X )= %  from which V(X) = E(X°) - [E(X)* = ... =
(B—4)°
12

With 4 =7.5 and B =20, E(X)=13.75 and V(X)=13.02.

0 x<75
From Example 4.6, the complete cdf is F(x) = x1—275.5 7.5<x<20.
1 20<x

P(X < 10) = F(10) = .200; P(10 < X < 15) = F(15) — F(10) = .4.

o=~13.02 =3.61, 50 u+ o= (10.14, 17.36). Thus, P(t— o <X < u+ o) =
P(10.14 < X < 17.36) = F(17.36) — F(10.14) = .5776.
Similarly, P(u—20< X< u+20) = P(6.53 <X <20.97) = 1.



29.

31.

a. 9838 is found in the 2.1 row and the .04 column of the standard normal table so ¢ = 2.14.

b. P(0<Z<c¢)=.291 = D) - D(0)=.2910 = D(c) - .5=.2910 = D(c) =.7910 = from the standard
normal table, ¢ = .81.

. P<D)=121> 1-P(Z<c)=.121=1-®(c)=.121 = O(c)= .879 = c=1.17.

d. P(c<Z<c)=0(c) - D(—c)=D(c) - (1 - D(c)) =20(c) — 1 = .668 = D(c) = .834 =
c=097.

e. Pc<|Z)=1-P(Z<c)=1-[Dd(c)- ()] =1 -[2dD(c)— 1] =2 - 2d(c) =.016 = D(c) =.992 =
c=241.

By definition, z, satisfies « = P(Z>z,) =1 - P(Z<z,)=1-®(z,), or O(z,,) = | — a.
a. (1)(2‘()()55) =1-.0055=.9945 = Z 0055 — 2.54.

b. (D(Z_Og) =9l = Zog = 134

. D(zg63) =.337 = z 433 —.42.



